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7K ik 3.8°C A v A T A F kR

— [0 H [ 0 CFU/ml otk O E Ok A WY <0.01 mg/L
X B W (& % ) Fa TNANI=ZTAEOZEDILEY 0.02 mg/L
HREITLAKR RZEDOLEY <0.0003 mg/L % KX X & o b & B <0.03 mg/L
KB K X F oA W M Kk O = o b A& W <0.01 mg/L
Ly E P ZEOMLED <0.001 mg/L FTRrRITVAROZDIED 9.0 mg/L
h kU2 o kA& W <0.001 mg/L v AR EONRED <0.005 mg/L
tFE E O ZE O LAWY <0.001 mg/L ®ote wm 4 A v 11.8 mg/L
AN i TTRZ AN = SV R (A< /] <0.002 mg/L AN T L R TRy NE () 20.3 mg/L
oo M R ® R <0.004 mg/L 7 % 7% ’%’ L7 80 mg/L
T A AT R O T koA 4 v Bom s A

i 1 B 2 S R N i 1 B 2 R 0.23 mg/L Y = A& A I ] <0.000001 mg/L
7 v RZ R EONAED <0.08 mg/L 2= AF LAY AR XA — | <0.000001 mg/L
Ty ZEEROZEOLRED 0.05 mg/L FE A A v Rom E A
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